ofH 42 114 2 Uiro] 52 &5 B4 A7) Fobd 2.13 o1
U 2]= 0.002 U oJHE 4= Dkl A] kA L.

> E.

[> FEHD 24284

ofd &5 |=t5td
[ ]+11.4=213---0.002
[ ]=11.4x213+0.002 = 24.284




iy

| 2
> HEh: 1232

0

LAl AAtAE ol 8sto] oA £5 FEUTh
[ ]=42x29+014=1232




-0.22

[ J+24=193-.

46.54

ull
&0

.I

ol g,

2.4x19.3 +0.22 = 46.54

A1S
1=

A

[

=




ojH 5 8302 Wrrofof g A& S| FolH Yy 451.527F
=5 Ut BEEA AAREES o -2 dupduzk? (52 v E st
24 A A 7R E5HA Q)
» E:

> =g 655

W 52 [ Jt sha
[ ]x8.3=451.52

[ ]=45152+83 =544
HEE AL : 544 + 8.3 = 6.554--- — 6.55




NE 5 252 FHY Kol 4.710]2 Y A7} 0.015 FEYH.
o[ 5 252 Wro] H& 24 3 A7 RS W, U AlE
GrFIA] FSHA 2

i

>
> ®E 004

[=]

ofd [ [t g,
[ ]+25=471---0.015

[ ]=25%4.7140.015=11.79
11.79 + 2.5 = 4.7---0.04
kA Y2 0.04 JUth




o 5 25.6 C & LHrolof & Ala R3] 52.6 22 ol
%ol 21013, UM A= 0.83 0 EH . HiEA AN Ho] 52
Ao BR7P) R AL RtgIU Y

=
| — ]

>
[> =g 8.89

[ ]=52.6x2.1+0.83 =110.46 + 0.83 = 111.29
w2hA] v 27 A4tstd
111.29 + 25.6 = 4---8.89 |2 & UMz = 8.89 Yt}




